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C_10 Ch 4 Hand-in 2022

Chapter 4 Hand-in Assignment — Trigonometry

Name: )46‘4

Unless a qucstiéﬁ says differently, round to 2 decimal places when rounding is necessary.

1. Convert each angle to degree measure.

a) %T 2_?, %D; b) 4.2 radians L % ’1_&2 ; :ZLfO' éﬁ“b
t e

2. Convert each angle to radian measure, in simplest exact form. (Answers will include )

a) —200 =200 x M. - —200m ) 1040' o x 1= - lo7om
— 180 T L&v
) 0 180
T =297T =
3 18
~|~107 = [52m
g 9
3. Convert each angle to radian measure, in approximate form.
a) 258 b) 95
. _95 x T = !_ s l
258 xﬂ”a:\wjo / ?T oy L ¢
( [g0o

4. Find the arc length subtended by an angle measuring 81'in a circle with radius 18 cm.

a<= ro
= pg,‘m:_n;
T 7 gD

5. Suppose that a clock’s pendulum has a length of 15 cm, and it swings back and forth, making
an arc of 22 cm. What angle does the pendulum pass through in one swing, in degree measure”?

\‘@/ r<is k= rt
a =19
€ r by = 2z PAJI‘WI.S

Contyrt +o degrees -

22, B -
| S I -
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6. For each angle below:
» graph it in standard position
* find the measure of one angle that is coterminal to the given angle
» find the reference angle to the given angle

5w
a) — b) —220
8
(Give coterminal & reference angles (Give coterminal & reference angles
in exact radian measure) in degree measure)
1
l
< 4

N
N

S - g S =] - o o 0
Coterminal: /<?;:+ 27—‘5 - 7g l %ri Coterminal: 220 + 360 = //‘7'0 ,
Reference: JT — Se _ g—n‘ S Reference:

v ] B l

7. Find the x-coordinate of all points on the unit circle that have a y-coordinate of
et

answers in fractional form, not decimal form.

EZwJ-m,\ of vt cvele: )(Zﬁy 2=

z 2 =
X" (Z)
2 _
I
X 2£
Z ~ Y4
X J <
8. Find each value, correct to three decimal places. (Use a calculator!)
a) cscl85 b) cot(%}
0 |
CSCIXS = SSO CDt _n: — /
Sin | 7 2r
tan <5

Cc)(’é e

ilel)

(S

(—«J:M

i— I, 4714 g prode :
on = 01 22_9
cala!)
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9. Find the EXACT (x, y) coordinates where the terminal arm of each angle listed below
intersects the unit circle:

T
b) — 2%
3 )

Ir
6 Ry
1 -ﬁ\

10. Find the angle measure, in BOTH radians and degrees, that corresponds with each point on
the unit circle:

5 -5

i \5 \5 ongle =
et °) T e
e gnrs J
(4 43%/ 15
L3 4 Pf'lllf

S ng{”’?
“7 =ys° .r"/Y
11. Suppose the terminal arm of a standard position angle @ passes through the point {3 8)
Find the exact value of all six tngonomctrm ratios for angle &, in fractional form

x
Xy *=rt y =
2 .
22#(-8) =T snb=Y_ -3 Cg‘(}:'g‘ :z?
qece =T R
B=r cosh =X - 2 Secd === ’J‘?
. 53 ©
(radess is b =Y _-% cotb =X - 2
sy s p"*""’x oo <~ 3 €

12. Find the exact value of all six trigonometric ratios for each angle €. Give answers in simple
form (no complex fractions)
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sinf=|-1 cosﬁ@tané’
@ 2 \

cscd= -2 secf=|Z |cotf=

( V3

e

U%/"‘;_
2~ xe) 330
Y

)

~% = -1 = ::';_2/:.':_(_ R

\J'E/ ORI S 232 IS

2

5 g x-45 5
S22

14. Solve these trigonometric equations algebraically.
* Give answers in EXACT form when possible.

e [f'domain is in radians, give answers in radian measure

a) c059=£. 0<@<2r

2
v
De-= 1%
v
)

b) cos@=—0.813, for 0<O<2m ‘ \
ca\C

Pe = s (F0-813)
= 0. b2iSl---

A 44"’\/
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¢) sin@=0.247, fo
. ~/ [4.30° !
v/ Y Qe sia (0:247) Qu st

4

~ )%300055’—. .

(/l)& nee co{:?/ml":'i’ + eath of ’ﬂu( mnwt, Lecaesr vt
el alf wsntrr dam O Ao TR0

M @y saswer = 1657707 +360

Hur @, onswt = Y. 307+ 360 _

d) 2cosf@+1=-1,0<0<2x
Atosb="2
2
Cos b =—I
00(‘_7 oy So lohag Lebrten O anfl 2T
Crl1o7 9 = 77-’
e) 4sin"@-3=0, 0 <0 <360 a v s = %
tem2p =3 A s :@
-'11—' 02 At = /81) - 92
glnzg :Z B(_;LD‘ =120
f
-3

=
QL, asws = 260° —De

TN el TR
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f) V2cos’@—cos@=0, 0<H<2r

Fackr ok commm frchr: Cosb (VZcosh —1) =D
) / \ J= Cos0 | =0
(o CoshH =0 _
cosh =
On vk corcle, It - = 0 =_1|
does thoo/Jer = D? Cos - ?2 T

Two mSWT 2 < Cos =V=
2 T/ 2
0,~") 4 2 Dree
R P )
Mistake in the questionTT i
Sorry!! Q‘f msnlr = l‘rr~9fz_ i @
g 2tan’@-Ttan 0} 3=0, 0 <0 <720

AC=~6 2m*p — (tmb ~ b 43 =0
mtt = £ S—c,—w 2bnbs (foad =3) =\ (a0 =3)=

o (2tont —1) (Em0 ~2) =°

And —1=0 LB =3
)\ﬁnﬁ =1

_ P
v £Emb -z D = éc«ﬁ'(&)

@ ww: = 71.s(S°
Qs s = 188"+ bre :
= ’ Q MmIw = |—7l‘ 57___]
5(_:%46’;) . '

Q; Gn Swl/ = 122)07' 971

= 9p SEPT
a"é/ W naeol =i25/-57 ’
Co'bcnnm«-/f?
e’”w‘ Ql anSwtr = 24;570"—340 CD‘éU"‘M”(/ nW'.'

o U
: ot @ sty = ILST +360
» 5 ={43(57°

= | 5¢6.57° ot Qs oy = 251-S77H 340°

6I.S7°
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